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PHYS 1311: In Class Problems .
Chapters 4 and 5 [
Feb. 16, 2017 7y (,(4 I ff

Problem 1. Consider the spring-mass system oscillating in the horifontal direction
with the mass on a friction-less surface. Take m = 10 kg, & = 100 N/m, and start
the system with an initial velocity of @, =< 1.00,0,0 > m/s with an igitial position of
7 =< 1.00,0,0 > m. Determine the amplitude A, angular frequency w,/maximum speed
Uy, Maximum acceleration ay,,, and a relation for the position x as a function of time ¢.
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Problgm 2. éwen ox‘lv the distance between the Earth and Moon (Rgy = 3.84 x 10°
m) and that between the Earth and the Sun {1 AU), determine the mass of the Earth and
the mass of the Sun. How can we measure Rpy or Reg?  La 1 4 : Mo =
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